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PART A

FOR EACH OF THE FOLLOWING QUESTIONS IN PART A, ENTER THE MOST
APPROPRIATE RESPONSE ON THE OMR SHEET.

D

Al.

A2.

A3.

A4,

A5.

AG.

AT,

A tensile force F stretches a wire of original length L by an amount AL. Consider another wire
of the same composition and cross-sectional area, but of length 2L. If a force of 2F is applied to

this wire of length 2L, then the amount that it stretches is: F DL,
[}

-z v T

(A) 1AL (B) AL (C) 2 AL ©®) 4AFLL_ ) 8AL ¢ L,
- L

Which one of the following is not a unit of pressure? A[—z = %\72 = ZF Z — T (F t ‘>
(A) Pascal (Pa) (B) atmosphere (atm) (C) cm of mercury (cm Hg)
@ kg-m/s? = New+m (E) pounds per square inch (psi) = L AL,

# unit «f pressure
How deep under the surface of a lake would the pressure be double the pressure at the surface’)
(1 atm = 1.01 x 10° Pa, density of water = 1.00 x 10° kg/m®) P P+ P9 (y, )5
(A)lOOm (B) 9.80 m ©lo3m (D) 322m (E) 436m
2Pt = Podin + PG (y,,) = Pam=z PIG-%) Yt,= oﬂr««/ = 10, sm
Assuming that water is an lncompressmle fluid, what happens as a rock, released when fully-
submerged just below the surface of the water in a swimming pool, sinks toward the bottom?

As the rock sinks, B-= Priod 3\]1%:‘1 wnd \/ﬁlufo\ :\lafo &= onstod once +he
obed is ‘ﬁ)“ Sulomejjd

(A) the buoyant force on the rock increases and the average pressure on the rock i lncreases

(B) the buoyant force on the rock increases and the average pressure on the rock decreases.

(C) the buoyant force on the rock decreases and the average pressure on the rock decreases.

(D) the buoyant force on the rock decreases and the average pressure on the rock increases.
the buoyant force on the rock remains constant and the average pressure on the rock
increases.

Water moves through the pipe shown below in steady, ideal flow.
Py Which one of the following statements is correct

concerning the pressure and flow speed in region 2
= ___ compared to region 1?

= ‘ A U' - A (Caf\""nu\‘\'y Ei\l&d\a«\) "7
e élonr, + /03‘/.: £, 4 zﬁ"z Y PIY,
0,7V} and v, 7 = 4

P

(A) Both the pressure and flow speed are higher in region 2 than in region 1.
B) Both the pressure and flow speed are lower in region 2 than in region 1.
The pressure is lower in region 2 but the flow speed is higher than in region 1.
(D) The pressure is higher in region 2 but the flow speed is lower than in region 1.
(E) The pressure is lower in region 2 than in region 1 but the flow speed is the same.

A 3.0-cm-diameter pipe is replaced by one of the same length but of 6.0-cm-diameter. If the
pressure difference between the ends of the pipe remains the same as for the original pipe, by
what factor is the volume flow rate of a viscous liquid through the new pipe greater than the

volume flow rate through the original pipe? N Porseuille’s law: bV: wRY (?1 f,)
@) 16 ®) 8 ©) 4 (D) 2,, () 1 no %)
Dhe o RY , dy= 20, > Ry = 28, =(U4D, = (D (), = 1)

Three identical ideal springs each have the same spring constant k. If these three springs are
connected end-to-end, forming a spring three times the length of one of the original springs, what
is the effective spring constant of the combination?

(A) 9k (B) 3k ©) k ©) w3 (E) k/9

Lef X ‘oe “Mf\e. N‘nou\\:k ‘WD‘* ane s?rmj S‘h‘d'd/\es \N‘\G/V\ A'RWCQ F (s Wld
\I\H\Qﬂ\ ‘H’V-S same ‘Fb'(C»Q F 15 ap [(e)\ -"D ‘\4\8 3 fpr‘lﬂjs CD*'WIQM CIV*A "'lD‘Oy\A
each 5{""” strekches +he Mwy\t Xy se Lyy” >x continued on page 3...
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A8.

B

AQ9.

Al0.

All.

Al2.

Al3.

Al4.

Al5.

M

Which one of the following statements is EALSE regarding a horizontal mass-spring system that
moves with simple harmonic motion in the absence of friction?

(A) The total energy of the system remains constant. T
The potential energy stored in the system Is greatest when the mass passes through the
equilibrium position. F PE = Llx?= 0 whem x=06 (ot equilibrioem)
(C) The energy of the system is contlnually transformed between Kkinetic and potential energy. T
(D) The total energy of the system is proportional to the square of the amplitude of the motion. T
(E) The speed of the oscillating mass has its maximum value when the mass passes through the

equilibrium position. T E = KE +f = l my+ ‘lkx = Uz mex whew
x=0
Simple pendulum 1, of length L, has a bob of mass m;. Simple pendulum 2, of length L,, has a
bob of mass m,. L, =3L; and my = 3m;. Which one of the followmg statem ts concerning the
ds, T1 and T, of the pendula is correct? = 12 L.
periods, T; a 2 p T: ZU‘[— /_rl = ﬁ

(A) T:=V%T1 B) =T, (C)T,=T, @Tﬂ—"ET (E) T2=3T1

What is the increase in the decibel level at a particular location when the power output from a
sound source emitting a single frequency is doubled? Op‘hms B c D £ &l (,orrespmA +o

(A 3.0dB (B) 10.0 dB (C) 20.0 dB (D) 40.0dB  (E) 200dB Fa.dmrs

smc [0 o tnore ‘R’Y ) CO‘V\W"'CA
A wave is travelling with a speed of v along a string in which the tension is T. If the tension is o p
suddenly doubled, what is the new wave speed? U< ’1:7} = Uy- 17

- |25
v J% frﬁ
(A) Lo (B) 1v © & O V2v (E) 4v

n J’u’

The distance between consecutive crests of a water wave is 2.0 m. As the wave passes a duck
floating on the water, you notice that the interval between times when the duck is at maximum
upward displacement is 2.0 s, The speed of the water wave is U )\/_r = 1.0 N\/S

T
(A) 0.25m/s (B) 0.50 m/s ©) 1.0m/s (D) 2.0 m/s (E) 4.0 m/s

If you double the tension in a guitar string, the fundamental frequency of vibration of the |7
string... @ = Ay = < = Y. L [E . - 2h

g ———7 LD o "exztf/:”ezzt;
@ increases by a factor of V2. (B) becomes half as large. (C) doubles.

(D) increases by a factor of 4. (E) does not change. x Z- (L ﬁ) z J}: .[Bl

Given that the strings of a guitar are the same length, is it possible for the strlngs to the
same tension but have different fundamental frequencies of vibration? f Il f& fJ &s/u.T

(A) Yes, and the lower the desired fundamental frequency, the smaller the required Ilnear mass
density of the string.

Yes, and the lower the desired fundamental frequency, the larger the required linear mass
density of the string.

(C) No, this is not possible because all strings at the same tension must have the same
fundamental frequency.

(D) Yes, and the higher the desired fundamental frequency, the larger the required linear mass
density of the string.

(E) No, this is not possible because all strings of the same length must have the same
fundamental frequency.

A truck is being driven at a speed of 130 km/h due East. Two police cars, both moving with a
speed of 150 km/h, and both with sirens emitting sound of the same frequency, f, are
approaching the truck. Car 1 is approaching the truck from behind and car 2 is approaching the
truck from ahead. Which one of the following statements is correct?

(A) The driver of the truck hears the same frequency f from each of the police sirens.

(B) The driver of the truck hears the same frequency f, > f from each of the police sirens.

(C) The driver of the truck hears the same frequency f, < f from each of the police sirens.

(D) The driver of the truck hears a higher frequency from the siren of the police car behind than
he does from the siren of the police car ahead.

@ The driver of the truck hears a higher frequency from the siren of the police car ahead than
he does from the siren of the police car behind.

El < - Wl)_{} —P U+ ] >_[ZS 5 'F' > P continued on page 4...

02" Tot
|ug U - lus!




Physics 117.3 Midterm Test Stu. No.:

February 11, 2016 Page 4

PART B

ANSWER THREE OF THE PART B QUESTIONS ON THE FOLLOWING PAGES AND INDICATE YOUR CHOICES
ON THE COVER PAGE.

FOR EACH OF YOUR CHOSEN PART B QUESTIONS ON THE FOLLOWING PAGES, GIVE THE COMPLETE
SOLUTION AND ENTER THE FINAL ANSWER IN THE BOX PROVIDED.

THE ANSWERS MUST CONTAIN THREE SIGNIFICANT FIGURES AND THE UNITS MUST BE GIVEN.
SHOW AND EXPLAIN YOUR WORK — NO CREDIT WILL BE GIVEN FOR ANSWERS ONLY.

EQUATIONS NOT PROVIDED ON THE FORMULAE SHEET MUST BE DERIVED.
USE THE BACK OF THE PREVIOUS PAGE FOR YOUR ROUGH WORK.

continued on page 5...
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B1l. A 62.0-kg survivor of a cruise ship disaster rests atop a block of Styrofoam insulation, using it as a
raft. The Styrofoam has dimensions 2.00 m x 2.00 m x 0.0900 m. The bottom 0.0240 m of the
Styrofoam block is submerged. Sea water has a density of 1.03 x 10% kg/m®.

(@) Calculate the magnitude of the buoyant force exerted by the water on the Styrofoam block.
(3 marks)

TOV orsew N
{‘1\ O:Q_DA 3 P E’ﬂqm{j\lﬁlvd Qéq

ﬂf___rﬁ‘
,-T =" f kso‘o \/ lord = volume 61{" S"‘ r‘oﬁbmv\ Uocl& "H'\a:t
B Fﬂ‘m\?"}{ vid IS Submer?eo\ Z W "\

B=(1,03x 107 kg /2 ) 480 w/s2)Y(2.00m x 2,000 0.0240@

(b) Calculate the weight of the Styrofoam block. If you did not obtain an answer for (a), use a
value of 955 N. (4 marks)

From Hhe focce ou“jmm m (a) 361N
. = _ =0
ZF=0 = B-fiempy” @“ “perse
B - F-mv = F f‘A\/(_Mt

pLsSm

o = THIN = Mpasag = F69N - (b2.0kg)(4.80w)s")

(c) Calculate the density of Styrofoam. If you did not obtain an answer for (b), use a value of
355 N. (3 marks)

M Fra /g 102 kg /3

-

v \/

= ZGIN/q‘gOM/SZ )
/ - (o242
(2.00m % 2.00m % o:o%o.v\)

continued on page 6...
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B2. A horizontal spring attached to a wall has a spring constant of k = 851 N/m. A block of mass
= 1.00 kg is attached to the spring and rests on a frictionless, horizontal surface. The block is
puIIed to a position x; = 6.00 cm from equilibrium and released.

x=0 x=ux/2 x=ux

(@) Calculate the potential energy stored in the spring when the block is 6.00 cm from
equilibrium. (3 marks)

PEg = Lk’ 535
P, = L (85 N Y(0:0000)°
PE;= .53 T

(b) Calculate the speed of the block as it passes through the equilibrium position. If you did not
obtain an answer for (a), use a value of 1.50 J. (3 marks)

). 75 w5

Me chamieal energy fs Conserved
E= %mvlir é—kzz = Constand

| = Lo (o) + LA
At wox oh.f,olmmem* (DC:A} E = zm'(o) + 2

%mu + < L J-ICP\

A"’ X =0 ( wui [T brivm Posv‘wm) —Lmu‘ ‘J‘ICA (— 53’3’ smee
- Az 0 0600m)

IN
AJ‘ 6 0600 gsooi‘“ o= [2(1533)
| ° 100 ui
(c) Calculate the speed of the block when it is at a position xi/2 = 3.00 cm. (4 marks)

~|2-mu’2+~|2-[(,x2= JZ-_LAZ .52 /s

=k (AZ—— xz)

Mmu”
= |k 2 2 _ |ESIN/m J’ 2 2
A X 0.0500) — (6.6300m)
JE J7 - [ fuomn

continued on page 7...
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B3. A speaker that emits sound waves uniformly in all directions is placed between two observers who

are 36.0 m apart, along the line connecting them. Observer 1 records an intensity level of 82.4 dB
and observer 2 records an intensity level of 75.7 dB.

(@) Calculate the intensity of the sound detected by each observer. (4 marks)

ﬁ" 10 [05<I/_£0> Observer 1: [ 74Xlo—4\1~//m2
. Observer 2: 3‘7ZXIO-SW/MZ
£, = log (*/1.) o
o= I = TI=1L10
I

(Lop*18 "~ Wi2) 10 = -
75740

%—-
S A
r) ()

(b) Calculate the distance of Observer 1 from the speaker. If you did not obtain answers for (a),
use I3 = 1.75 x 10 * W/m? and 1, = 3.50 x 10> W/m?. (6 marks)

L4 m

P . £

= - - J].= >

SN ((0=0)) R S A B
2

W omd- (“"l-(‘]_: 3(.Om

I Sl M-
y 1 7.4 510°° W2

|+ 3.F2x 10 S W/ 2

continued on page 8...
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B4. A steel wire in a piano has a length of 0.700 m and a mass of 4.30 g.

(@) Calculate the tension force that must be applied to the string so that the fundamental resonant
frequency is 261.6 Hz. (4 marks)

N A N A Londoawendsd
— mode of \/ilof'&'h'wl, ?ZZ*N
1€ L >

L: "‘2'>\| :> >\‘: ZL.

A N A T T L= [FC

-F’ N, ™MV T 2L w:7L,~2L/;‘:>-F12’L m
2 _

4ETL e pe 4R

F 4(?-(31‘éH@Z(O.?OOMXLf-gO’“D’B"j) -

(b)  Given that the density of steel is 7.85 x 10° kg/m®, calculate the cross-sectional area of the
wire. (3 marks)

S = == B 7§3%10" 7 2
/0 5 amd N = AL /0 AL M

R R
P 785 x10°hs /g Zpm

)

(c) Given that Young’s modulus for steel is 2.00 x 10™ Pa, calculate the amount that the string
stretches when the force calculated in (a) is applied to it. If you did not obtain an answer for
(@), use a value of 825 N and if you did not obtain an answer for (b), use a value of
7.80 x 10 " m?. (3 marks)

Eﬁ\/é[__‘_ = AL - E_[_, 3. 6% v
AL AY

o (B2 Yo 700m) g gy 15, = (3 )
o (783x10 72 )(2.00x10 Fa) 3401070 " (3 8o

END OF EXAMINATION
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B1. When a crown of mass 14.5 kg is suspended from an accurate spring scale and fully-submerged in
water, the spring scale reads only 129.0 N.

(@) Calculate the buoyant force on the crown when it is fully-submerged in water. (3 marks)

M, = /Lf.gkg 131N
S AT eqilibrie, TF20
1 LABYE-W=0 > B=W-k
b B=mg -

= (145 ij@.XD«\/&) - [29N

(b) Calculate the volume of the crown. If you did not obtain an answer for (a), use a value of
12.5 N. (4 marks)

B= friuq b 3410
Sihee the ccown s #U“\/—S\meqj&l) \/-{Z(uuol - \/Crown
) \[Cfo\,.m = .E— 1510

A i l~00*103[‘ Soe/s”
FRind 9 ( P%Xq /s

\

|. 34 X lO"gmg>

Ccomwn

(c) Calculate the density of the crown. If you did not obtain an answer for (b), use a value of
1.30 x 10 m®. (3 marks).

M J45 g l.ngloL”‘j{“S
7N 3gxoia

continued on page 6...
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B2. The position of a 0.300-kg object attached to a spring and undergoing simple harmonic motion
(SHM) is described by

X = (0.250 m) cos(0.400x t)
where t is in seconds.
(@) Determine the amplitude of the motion. (1 mark)

In 3€n<m.0, X< A s (&)‘k) G\ZSOM

"+ By inspection,

(b) Calculate the spring constant. (3 marks)

Recall Hhot w-Jg 0.474 N/,
amd  from - (0,250 ) cos (O\Leoovf\)) L 0.400m ad/
O.)Z- = ,IL_ => l(_ z VY\COZ = (O‘SOO (’—jXO:LfOOTF CN’V5>Z

ke outhg

(c) Calculate the position of the object at time t = 0.300 s. (3 marks)

xX-= (O\ZSO m> oS [{o,l{oon— mp%.YOxSOOQ’X 0:232
——

ang le [(n radiams

(d) Calculate the speed of the object at time t = 0.300 s. (3 marks)

g = ~Acw sin (wb) 0.11b w/s
lU’l = lAOQ Si}\@uJL’)\
|| = (0.250m ) Ok00T cadfs ) siv{(O,LFOOTF FM/S‘XO‘SOOSJ

continued on page 7...
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B3. A bomb explodes in mid-air and generates a sound wave which radiates uniformly in all directions.
At a distance of r = 10.0 m from the blast, the sound wave intensity level is measured to be
S =135 dB, relative to the threshold of hearing.

(a) Calculate the intensity of the sound wave at a distance of 1.00 x 10? m from the explosion.
(4 marks)

) 1 /L
4= 10 log (‘f,) = = Iog (1;> 0. 316 W/
0"+ L= 15 107"

L
(\‘hy,\s,-l-y c,orre’.srav\abwﬁ +o a leved of 13548 i<
135
= (l.ooxo” “w/2)10 fo = 314 Wik
Sl.f\CzQ 'H\e SD\N\A WAL FKAA:OJ\-QS Unl’gxmly [~y\ ﬂku OU.'re.dn‘mS) ‘M‘\Q
wmre'grov\t( we Sfl'\e,rfc_ai shedls.  With no enesgy [055-) )
P: IA= constort = T A=LA, = T 4ot = T, Ur

T 2 _ 2 2
..L |‘ r~| - IZ. rZ = Iloo = I)o. WO

A
T - (31.6 W2 )(100m)
106 (/,()OXIOZM)Z -

(b) Calculate the intensity level at a distance of 2.00 x 10> meters from two of these explosions if
the bombs explode simultaneously at the same location. (If you did not obtain answer for (a),
use a value of 0.300 W/m2.) (6 marks)

As  shown above | I’r‘,lt IZFZZ 112 dB

Lk LL be the ln-\'(/v\’sﬂy of me  exp losion ok r= |00 ™
Le* T Le the ln“-@My*y c]e e Qm{:logzm & f‘z’?— 200 =
s

rz m O m

z J®O
I%,r: un‘\’e/v\sz'|~7 due o -l-wm e%flo&av\s & r* 20m ZI

0.158 Win -
Ly = 0458 Wiz B 10 lo 3( ooito ’ZW/>

continued on page 8...
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B4.

An object of mass m hangs from a cord around a light pulley. The length of the cord between point
P and the pulley is L = 2.00 m. The mass of the cord between point P and the pulley is

m¢ = 9.80 grams. When the vibrator is set to a frequency of 151 Hz, a standing wave with six loops
is formed.

= | o
Vibrator [ 1

N N N N N _ N gy Zt?zO
I

I >
g )\ le— iu'
/2.

+T-—Mj7-o

A=
Each node-node loop orresponds +o +/]~ ! T = g
BN LE b(5N) = 3 |
Focas
(@) Calculate the speed of a wave on the cord. (3 marks)
o= X 10( w/s
From dovve | L=3x= nN= L

o= L _ Usik)(2.0m) _

2 2

(b) Calculate m, the mass of the object. If you did not obtain an answer for (a), use a value of
105 m/s. (4 marks)

2 -3
U = nrlgl_— = U:fﬁ’c - m= (191 m/s5) (‘?‘B’Oxto 'zj>
" gL (9.800y5% Y 2. 00w )

(©)

If m is changed to 10.0 kg, calculate the fundamental frequency of standing waves on the
cord. (3 marks)

l¥/‘ 35'4 Hz

A
At the Lundoandal | L= ék‘ = A2k
poyv . LT o L fmgk g
N, T 2Ll 2L e g AL
o Qo0k JARAT, - -
" 4 (2.00m)(.80x10 7ly) ~

END OF EXAMINATION




